newlluine AIR BRAKE

@GN HOSE & FITTINGS

Nylon Air Brake Field Service Kit

PARTS-TO-GO VALUE KIT

Part# N66-SK1400

2PCS - 1/8” FNPT Brass Coupling 2PCS - 3/8” Brass NPT Hex Nipple 2PCS - 5/8” Nylon DOT Brass Tube Nut 2PCS - 3/8” Nylon DOT x 1/4” MNPT 90° Elbow
2PCS - 1/4” FNPT Brass Coupling 2PCS - 1/2” Brass NPT Hex Nipple 2PCS - 1/4” Nylon DOT Brass Union 2PCS - 3/8” Nylon DOT x 3/8” MNPT 90° Elbow
2PCS - 3/8” FNPT Brass Coupling 2PCS - 1/4” Brass NPT 90° Street Elbow 2PCS - 3/8” Nylon DOT Brass Union 2PCS - 1/2” Nylon DOT x 3/8” MNPT 90° Elbow
1PC - 1/2” FNPT Brass Coupling 2PCS - 3/8” Brass NPT 90° Street Elbow 2PCS - 1/2” Nylon DOT Brass Union 3PCS - 1/4” Nylon DOT Brass Tube Insert
3PCS - 1/4” x 1/8” NPT Brass Bushing 3PCS - 1/4” Nylon DOT Brass Tube Sleeve 2PCS - 1/4” Nylon DOT x 1/8” MNPT 3PCS - 3/8” Nylon DOT Brass Tube Insert
2PCS - 3/8” x 1/4” NPT Brass Bushing 3PCS - 3/8” Nylon DOT Brass Tube Sleeve 2PCS - 1/4” Nylon DOT x 1/4” MNPT 3PCS - 1/2” Nylon DOT Brass Tube Insert
2PCS - 1/2” x 3/8” NPT Brass Bushing 3PCS - 1/2” Nylon DOT Brass Tube Sleeve 2PCS - 3/8” Nylon DOT x 1/4” MNPT 3PCS - 5/8” Nylon DOT Brass Tube Insert
3PCS - 1/4” Brass NPT Hex Head Plug 2PCS - 5/8” Nylon DOT Brass Tube Sleeve 2PCS - 3/8” Nylon DOT x 3/8” MNPT 1PC - Miniature Tube Cutter

2PCS - 3/8” Brass NPT Hex Head Plug 3PCS - 1/4” Nylon DOT Brass Tube Nut 2PCS - 1/2” Nylon DOT x 3/8” MNPT 1PC - PTFE Sealant Tape

2PCS - 1/2” Brass NPT Hex Head Plug 3PCS - 3/8” Nylon DOT Brass Tube Nut 2PCS - 1/4” Nylon DOT x 1/8” MNPT 90° Elbow

3PCS - 1/4” Brass NPT Hex Nipple 3PCS - 1/2" Nylon DOT Brass Tube Nut 2PCS - 1/4” Nylon DOT x 1/4” MNPT 90° Elbow




(vaz)

d498€0-10ZN
a|ddIN xaH sseug .8/S

(va2)

o8-89l
10Q@ uojAN 104 LdN dleN
«8/€ X 9qn] sseiq .z/l

(vae)
08-6971
103 uojAN 104
Moqi3 .06 LdN @IeiN
«8/€ X @qn_ sseig .z/|

(vae)

A4g8€0-912ZN

Moq|3 Jealls
.06 papnJix3 sseug .8/¢

(vae)

d4a620-10ZN
a|ddIN xaH sseig ./l

(vaz)

J9-8971
10Q@ uolAN 104 LdN dle
«8/€ X 8qn ] sseiq .8/¢

(vaz)
99-697%1
10Q@ uojAN 104
Moq|3 ,06 LdN 2IeN
«8/€ X aqn] sseig .8/g

(vaez)

A9SC0-9L¢N

moq|3 }ea1)s
.06 pepnJ)x3 sseag /L

(vaz

d9050-89¢N
Bn|d peaH xaH sseiaq .zZ/1L

(vaz

g9-89v1
10@ UojAN 104 LdN aleiN
/L X 2an] sseiq .8/¢

(vaez)
g9-69v1
10Q@ uojAN 104
Moq|3 .06 LdN 31BN
¥/l X 8qn sseig . 8/¢

(vagRvag)

0L-1L8VL 8 8-L8¥L
Jasu| agn] sseug 10d
uolAN al .0v¥'0 8 Mesu| sseig
aqny 10d UolAN al .§.€£°0

(vae)

d498€0-89¢N
Bn|d pesH xaH sseiq .8/

(vag)

d9520-892ZN
Bn|d peaH xaH sseiq v/l

(vae)

av-89v1

10Q UoJAN 104 LdNIN
YL X 3an sseig . pil

(vaez)

Vv-89v1

10Q UOJAN 104 LN
«8/1 X 84n sseig ./l

(vaez)

av-69v1
104 uojAN 1od4 moq|3 .06
LdNI b/l X 2qn sseid b/l

(vaz

Vi-69v1
10Q uojAN 104 MoqI3 .06
LdNIN .8/} X 9qn] sseid b/l

(vaz
d98€0-050-09ZN

Buiysng 190npay
sselg .8/€ X .2/}

(vaez)
y9620-8€0-09ZN

Buiysng Jaonpay
sselg .y/l X .8/€

(vag)
¥9€10-520-092N

Buiysng Jeonpay
sselg .8/L X v/l

(vaz)

8-c9vl
10Q uojAN 4oy Buiidnod uolun
aqn] sseug g/l

(vaz)

0L-L97v1
10a UojAN Joj InN
aqn] sseig .8/

(vaeg)

8-19vlL
10Q uojAN 104 InN
aqn] sseig .z/l

(Hivd 1)
dINS1

19)n9 agn| ainjeluly

(va )

d49050-G¥¢N
Buiidno9 sseug .z/I

(vaz)

9-2971
10a uojAN Joj Buijdno uoiun
aqn] sseig .8/

(vaeg)

o-LoviL
10@ uolAN
10j NN aqn) sseig 8/€

(vag)

71971
10@ uolAN
10j InNN aqn] sseiq v/l

(vagpvaeg)

9-18v1L B v-I8VL
yesu| agqn] sseag
1oa uolAN ai 0520
® Jasu| sseug aqn)
Loa uolAN a1 0210

(vaez)

d4d8€0-G¥¢N
Buidno9 sseig .8/

(vaez)

Lal4*14"
10Q uojAN 4oy Buiidnod uolun
aqn sseug v/l

(vaz)

0L-097v1
10q@ uojAN
10} 9A99|S aqn] sseuq .8/

(vaeg)
8-09771L

10a uolAN
10} 9Ad9|gaqn ) sseuq .Z/1

(vaz

d49620-G¥ZN
Buidno9 sseig /1L

(vaez)

d4€10-G¥¢N
Buidno9 sseig .g/1

(vae)

d49060-L0ZN
a|ddIN xaH sseig ..z/1

(vaeg)

9-09¥1
10q@ uolAN
J1o} and@9|Saqn] sselg .8/¢

(vag)

v-09v1L
10@ uolAN
J10J 9A99|S aqn] sseug /1L

(oy 1)

0S0-LZIN
ade] juejess 341d .02S X .2/

newliuine

@GN HOSE & FITTINGS e

NEW-LIiNne.com

Industry Flows Through Us™

N66-SK1400

Part #




